Pik = 12+321,70
Skola 1100/100

[_INASYP= 0,07m2
[ ]wykop= 0,88m2
[ |SCIERAL= 0,22m2
[ ]viAzAC= 0,00m2
[ ] WYROWN= 0,32m2

[ VYROWN. 0/31,5= 0,10m2

PP. = 162,00
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Pik = 124547 20
Skalo 1:100/100

[_]NASYP= 0,01m2
[ ]VYKOP= 1,34m2
[ ]SCIERAL= 0,22m2
[ ]wiAzZAC= 0,00m2
[ ] WYROWN= 0,23m2

PP. = 163,00
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Pik = 12+571,40
Skalo 1:100/100

[_]NASYP= 0,03m2
[_]VYKOP= 1,59m2
[ ]SCIERAL= 0,22m2
[ ]viAzZAC= 0,00m2
[ ] WYROWN= 0,24m2

PP, = 163,00

|

}_

16773

166,75 -
166,75

16741 -

T T T T T
[y [>=] — = o
- L2 = - = ™= =
~ ~ ~ ~ [ ~
! (=} (=} (=} (=} SO SO (=}
= = = = == =
T T T
o2 o~ o2
RZEDNE KONS = = =
~ ~ ~
! (=} (=} (=}
= = =
T T T T T T T T
o - [==] [Tl [~y [=<] [ (=)
= LS > = xR L L ==
~ ~ ~ ~ ~ ~ ~ ~
=] =] =1 =] o =1 =1 =)
= = = = = = = =
m T T T T m T m m m T T
7
=1 el ] [T =D
[ ] 2 ~== —~ = Tl [Tl =S e
B S << o3 adaT =1 S = N = < R S ST
o [ASN) | () = (ST oS ~<rir> oL




